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61. (C) ftl rjg]
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mlh rjg]

L A N G U A G E     O C Q I X C J G
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+3
+2

+3
+2

+3
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62. (C) dy'k jk[k dks j[kus esa iz;ksx gksrk gS mlh izdkj i'kZ èku
dks j[kus esa iz;ksx gksrk gSA

63. (A) 41 – 72 = 31
12 – 30 = 18
42 – 51 = 9

11 – 20 = 9

64. (C) 'ka[k ds vfrfjDr] vU; lHkh 'ka[k esa jgrs gSaA
65. (A) lHkh xksjS;k gSa ijarq N% tks xksjS;k ugha gSA mldk vFkZ gS N%

cÙkd vkSj dcwrj gSA
mlh izdkj] xksjS;k dh la[;k + cÙkd dh la[;k = 6

xksjS;k dh la[;k + dcwrj dh la[;k = 6.

;g dsoy rHkh laHko gS tc mlds FkSys esa 3 xksjS;k] 3
dcwrj rFkk 3 cÙkd gksa] ;kfu dqy i{kh = 9

66. (A) A B

CD

vr% lwtkrk mÙkj dh rjiQ eq[k djds [kM+h gSA
67. (C) 32 + 1 = 10

102 + 1 = 101

(101)2 + 1 = 10202.

68. (D) og yM+dh vfer dh ekrk ds ikS=k dh iRuh gS ;kfu og
vfer ds yM+ds dh iRuh gSA
vr% vfer ml yM+dh dk llqj gSA

69. (B) nh xbZ vkÑfr esa n'kkZ;k x;k gSA
A B C D E
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HARYANA MOCK TEST – 85 (SOLUTION)

{kSfrt js[kk ;kfu AK, BJ, CI, DH rFkk EG gS] dh
la[;k = 5

lh/h js[kk ;kfu AE, LF rFkk KG gS] dh la[;k = 3

frjNh js[kk ;kfu LC, CF, FI, LI, EK rFkk AG gS] dh
la[;k = 6

blh rjg] vkÑfr esa frjNh js[kkvksa dh la[;k = 5 + 3

+ 6 = 14

70. (C)

71. (D) dqy Ø; ewY; = ` 32

dqy foØ; ewY; = 
12

12
 × 18 + 

4

12
 × 6

= (18 + 2) = ` 20

gkfu % = 
32 – 20

32

 
 
 

 × 100 = 37.5%

72. (A) ekuk] dqy Nk=kksa dh la[;k = x.
 50x – 30 × 100 = 45x
 5x = 3000

 x = 
3000

5
 = 600

73. (C) ekuk eqfnzr ewY; = ` 100
 foØ; ewY; = ` (100 – 2.5) = ` 97.5

 vafdr ewY; = 
100 39

97.5


 = ` 40

74. (C) ;fn dj dVkSrh ds ckn dh iwath = x rks]
x × (4 – 3.75)% = 48

 
0.25

100

x 
 = 48

 
400

x
 = 48

 x = 48 × 400 = ` 19200

 vfHk"V jkf'k = 
19200 100

96


 = ` 20,000

75. (B) ekuk] vke dh dqy la[;k = 8000 bdkbZ] rks
8000 bdkbZ 

4000 bdkbZ 
cspk x;k

4000 bdkbZ 
'ks"k

3600 bdkbZ 
– 400 bdkbZ ([kjkc) 

1800 bdkbZ 
cspk x;k

1800 bdkbZ 
'ks"k 

– 180 bdkbZ ([kjkc)

1620 bdkbZ 

810 bdkbZ 
cspk x;k

810 bdkbZ 
'ks"k 

– 81 bdkbZ ([kjkc) 

729 bdkbZ 

(rhu jkrksa esa

[kjkc gqbZ 

bdkbZ)661 
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vr% 661 bdkbZ = 1983

 1 bdkbZ = 3 vke

vr% vke dh dqy la[;k
= 3 × 8000

= 24000

76. (B) 24, 36 vkSj 54 lsd.M dk y?kqÙke lekiorZd

= 216 lsd.M

= 3 feuV 36 lsd.M

 vHkh"V le; = 10 : 15 : 00 + 3 feuV 36 lsd.M

= 10 : 18 : 36 AM

77. (C) ekuk Ø; ewY; = 1000

vafdr ewY; = 1000 × 
115

100
 = 1150

ykHk = 1150 – 920 = 230

 ykHk izfr'kr (tc O;kikjh ,d fdyksxzke dh otk; 920
xzke dk ckV mi;ksx djrk gS)

= 
230

100 %
920

 
 

 
 = 25%

78. (C) vkSlr xfr = 
2 6 3

(6 3)

 


 = 4 fdeh@?ka-

79. (B) ekuk] iq=k dh orZeku vk;q = x o"kZ

firk dh vk;q = 42 o"kZ

iz'ukuqlkj]

2x = 42 o"kZ]

HARAYANA CONSTABLE  MOCK TEST – 85 (ANSWER KEY)

1. (D)
2. (A)
3. (D)
4. (C)
5. (B)
6. (B)
7. (A)
8. (C)
9. (A)
10. (C)

11. (B)
12. (D)
13. (C)
14. (C)
15. (A)
16. (B)
17. (D)
18. (B)
19. (D)
20. (B)

21. (B)
22. (D)
23. (B)
24. (C)
25. (A)
26. (B)
27. (D)
28. (D)
29. (C)
30. (B)

31. (C)
32. (B)
33. (C)
34. (C)
35. (A)
36. (D)
37. (A)
38. (C)
39. (A)
40. (B)

41. (C)
42. (C)
43. (B)
44. (B)
45. (C)
46. (A)
47. (C)
48. (B)
49. (B)
50. (C)

51. (B)
52. (B)
53. (B)
54. (B)
55. (B)
56. (D)
57. (A)
58. (A)
59. (A)
60. (D)

61. (C)
62. (C)
63. (A)
64. (C)
65. (A)
66. (A)
67. (C)
68. (D)
69. (B)
70. (C)

71. (D)
72. (A)
73. (C)
74. (C)
75. (B)
76. (B)
77. (C)
78. (C)
79. (B)
80. (C)

81. (B)
82. (A)
83. (D)
84. (A)
85. (C)
86. (D)
87. (B)
88. (D)
89. (C)
90. (B)

91. (B)
92. (A)
93. (C)
94. (A)
95. (B)
96. (A)
97. (B)
98. (A)
99. (C)
100. (B)

Note:- Whatsapp with Mock Test No. and Question No. at 7053606571 for any of the doubts.

Join the group and you may also share your suggestions and experience of Sunday Mock Test.

Note:- If you face any problem regarding result or marks scored, please
contact  9313111777

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

x = 21 o"kZ

 5 o"kZ igys iq=k dh vk;q

= 21 – 5 = 16 o"kZ

80. (C) 40 iqLrkdksa dk Ø; ewY; = ` 3200

iz'ukuqlkj]

40 iqLrdksa dk foØ; ewY;

= 40 iqLrdksa dk Ø; ewY; + 8 iqLrdksa dk foØ; ewY;

[ foØ; ewY; = Ø; ewY; + ykHk]

32 iqLrdksa dk foØ; ewY; = ` 3200

[ 40 iqLrdksa dk Ø; ewY; = 3200]

1 iqLrd dk foØ; ewY;  = ` 100

1 ntZu iqLrdksa dk foØ; ewY; = ` 1200

91. (B) Change ‘aims to do’ into ‘aims at doing’.
‘Aim’ takes ‘at’ after it and all the
prepositions take ‘v

1
 + ing’ after them.

92. (A) If past time (i.e. last weekend) is given
in a sentence, the sentence must be in
simple past tense and never in present
perfect tense. Change ‘have visited’ into

‘visited’.

93. (C) ‘Get along with someone’ means ‘to have
smooth relations with someone’.

94. (A) Establish (V
1
) will be preceded by ‘to’.‘In’

is followed by ‘V
1 
+ ing’.


